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T = &|FAEHKBRHRISE
T = B B mAH FHET HN
T i ZHDH mio FR22512A 108 FT
BIERD BIERE L=312m
wEIAvIID L=13.0m wIAVHIIQ L=18.2m
I = % = EI2HU—FI  A=240m KET L=13.0m
MARGE ST ME)EE T L=29.4m
BIERQ MIER L=267m EIRT L=26.7m
A #L A B|FH22%10A1HB F% 2 B 10 %
2 8N 5 —hEER S ¥ & TR—=K
T MK (Bl ik) 2,099,000 | & 1 il R Al #& (B k) 1,680,000
AL & (BiR) 16800002 % & # 1,764,000
u L=
(2 F 4 AL & #| i & AN
BRSHZFERER 1,677,000| %#Lst
Xt FEREE 1,678,000| %&#L4t+
RIELE 1,702,000
AREHIR-TA(H—ER 1,678,000| %&#L4t+
A HIRF 1,679,000| =#Lst
FEHRZER= 1,678,000| %&#L4t+
FELAKKASH 1,678,000| %#Lst
“ASHHT XI5 —> 1,681,000
EHEEAREH 1,676,000| Z#Lst
KX AERT 1,677,000| %#L4t+
FREHHRTIE 1,678,000| %#Lst
AR=#tHro—k 1,678,000| %&#L4t+
AE=tsmITEH 1,683,000
FREHXEER 1,830,000
KA RSHEE 1,705,000
FRE=H X% 1,685,000
KigEMA= 1,679,000| %#Lst
AREHEEIAX 1,678,000| %&#L4t+
AU EERR 1,682,000
AR PHESR 1,678,000| %&#L4t
FRE=t# KA 1,685,000
A—ERITEXFR=H 1,683,000
KASH=FKEL 22— 1,678,000| =#Lst
ARSI YT EH 1,685,000
KetiEghlasn 1,678,000| %#Lst
KA EHKFEHE 1,679,000| %&#L4t+
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KX VvRIITE 1,680,000| <LIZ&kVYRE
XS ILARFRIE 1,680,000

N)=Ef =6 1,683,000
BRASHMERSE 1,678,000| %&#Lot
BRSHIEDER 1,678,000| %#lst
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